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1. Whatis work related carpal tunnel syndrome? (3%) List two occupations that are prone to work-related carpal
tunnel syndrome. (4%) How could we prevent work-related carpal tunnel syndrome from happening? (3%)
2. Anindustrial hygienist took several ozone samples (90 pg/m?3, 0.1 ppm, 120 pg/m?, 0.2 ppm, and 50 pg/m3). What
is the standard deviation for this dataset? (6 %) What is the coefficient of variation for this dataset? (6 %)
3. What is the assigned protection factor (APF)? (4%)
Please list the assigned protection factor (APF) from high to low for the following (8%):
(A) Full-face APR ‘ '
(B) Self-Contained Breathing Apparatus (SCBA)
(C) Tight-fitting Powered Air Purifying Respirator (PAPR)
(D) Supplied air respirator
4. When conducting an exposure assessment, what are the primary sources of within-worker and between-worker
variability? (10 %)
5. What kind of sampler should be used to evaluate personal exposures in a food processing plant contaminated
with bioaerosol? (4%) Please write your reason.”(4%) How would you conduct the exposure assessment? (8%)
6. During cleaning, 5L of cleaning solvent evaporates entirely into the air during the 8-hour shift. The solvent density
is 0.6 g/mL. What is the average emission rate for the solvent during the 8-hour period? (10%)
7. EERERELUT A5 (12%)
(1) TLV-C (3%) (2) $EEEE I (capture velocity) (3%)
(3) 7AEIZE 9 HE fh(solvent blank sample) (3%) (4) &iE(permeation) (3%)
8. [HEFEEETHEREESEINERER? (8%)
9. TEMSEfERS TIREEEEE ) TRAKEES T BEYSHERISIIER? (6%) HEHNER

B BB ERRE TIRERE (4%)




